€0'¢
00y £8'C
L00¥ L0°0¥ €0'C
60°0¥ L0°0¥ 00'¢C
cloy GO0y 0s'L
vy L0°0¥ 050
GlL'oy 010y 000
9’0y cloy 050
810y €Ly 0S'L-
G0y 00y 00°¢-
010y 010y 80°C
700y 80°¢-
E
8
S
o
N
&
L€
L0y 19C
i cl’oy 45414 LT
€0y 45414 00'¢C
90y L0y oSt
80y 810y 050
60y ¢ oy 000
0g0y GZoy 050
ce 0y 920y 05}~
L 60y €C0y 00°¢
€C oy €0y 60°C-
L0y 60°¢-
£
~N
3
5
o
N
c
G0y Le
6€ 0¥y 6€° 0y Le
9’0y 8E'0Y 00'¢C
6v' 0y LE°0Y 0s't
LG0Y L0y 050
¢soy L0y 000
€S0y €50y 050
gs' 0y GG 0y 0S|~
¢s'0y GGy 00°¢-
gs'oy Gg'oy go0'c
S0y G0'¢-
£
O
3
5
o
N
c
10'¢
790y v.'C
€9°0¥ €90 10°C
290y €90 00'¢C
G9°0y ¢90¥ oSt
L90¥ €907 050
89°0¥ 790y 000
690 99°0¥ 050
€L'0y 19°0¥ 0S¢
L9°0¥ L9°0¥ 09°¢-
G9'0¥ 09°¢-
£
©
3
5
o
N
c
€0’y l0'¢
0Ly 0Ly 10¢C
LO'Ly 0Ly 00¢C
vO' Ly LO'LY oSt
90ty LO'LY 050
L0}y 0Ly 000
80'LYy Yo'y 050
0l'ly 80°L¥y 0S'}-
0Ly 60°LYy 00°¢
0L'Ly OLLy v0'C-
0Ly ¥0°¢-
£
3
S
o
N
&
L9y 6l'¢
y 08'Ly 08’y 6l'C
€6'LYy 0% 00¢C
96°'LYy 12074 0s't
86°LYy 88'LYy 050
66°LY 06°Ly 000
00°¢y L6°LY 050
20'Cy ¥6'Ly 05}~
66|y €6'LY 00°¢
€6'LYy €6°LY 80°C
6Ly 80°¢-
£
)
3
S
o
N
&
(XA L0°¢
) 9e'Cy 9¢°Cy 10¢C
ov'ey 9e'cy 00'¢C
ey 8g'cy 0s'1
Gy ey 050
o'y vy 000
Ly'ey L'y 050
44 ¢S’y 0S'}-
'y GG’y 00°¢
9g'cy 9G°¢cy 1434
yS'cy 1425
£
<
S
S
o
N
&
1433
9e'Cy 8.°¢C
¢ 0v'ey ov'ey 14X
144 4444 00¢C
esey L'y oSt
vSey €5y 0S0
qg'cy 9g°¢cy 000
9g°¢y 85y 050
85'Cy GG’y 0S'L-
Gg'Cy 1SCY 00°¢
LSCYy 1S7¢y e
0S¢y ¢0°¢-
£
0
S
S
o
N
&
vy 90°¢
s’y [A*K4 90'¢C
ag'ey ¢S’y 00¢C
89'¢Yy 12°K4 0s't
09'¢y 09y 050
L9Cy 9y 000
29'Cy g9y 050
v9'Cy 89°CY 0S'}-
i 19Cy 69°Cy 00°¢
89°¢y 89°Cy oL'e
9y 0l°¢-
£
©
S
S
o
N
&
y0'€
6v'cy 18'C
12X 12K ¥0'C
LSCYy GG’y 00'¢C
09¢y 1S7¢y 0s'L
a9¢y 9y 050
€9°¢y S NA 000
v9'ey 192y 050
99°¢y 69°Cy 05}~
i €9°Cy 0L'¢y 00°¢
0L¢cy 0L¢y Le
99°Cy 135
£
©
S
S
o
N
&
¢Sy a0¢
15Ty 1SCY 20¢
89'¢Yy LS°Cy 00¢C
L9Cy 09°¢y 0s'l
€9y y9'cy 090
v9'cy 19Ty 000
g9y 69°Cy 050
19Ty 69°Cy 0S'L-
I y9'Cy 0L'¢y 00°¢
0L¢y 0L¢y 60°C-
0L'¢y 60°¢-
£
©
<
S
o
N
c
¢S’y a0
89y 85'CY 20'¢C
65y 8G'¢Cy 00'¢C
29Cy L9y 0s't
v9'ey g9y 050
Gy 192y 000
99°¢y 69°¢y 050
89°CYy 0L'¢y 0S'L-
*X44 0L'¢y 00°¢
0L¢y 0L¢y L0°C
0L¢y 10°¢-
£
©
S
S
o
N
&
¢Sy v0'€
95'¢y 9G°¢y ¥0'C
89'¢y 9g'cy 00'¢C
L9Cy 8G'Cy 0s't
€9y L9y 050
v9'ey €9'Cy 000
q9'¢y g9y 050
19CYy 99°Cy 0S'}-
v9'Cy 99°Cy 00°¢
99°¢y 99y €0'¢
99°Cy €0°¢-
£
©
S
S
o
N
&
ev'ey v0'€
vy L'y ¥0'C
0S¢y L'y 00'¢C
€Sy Az 0s'1
qg'ey (A 050
9g'¢y 12°K4 000
LSCYy 9g'cy 050
65y 8G'CY 0S'L-
95'¢Yy 65'cy 00°¢-
6S'CY 65y v0'¢-
85y ¥0°¢-
£
¥}
S
S
o
N
&
LEey 80°¢
o AL ve'cy 80'C
v’y A 00'¢C
I arA 9e'cy 0s'1
Sy ov'ey 050
VA Ly 000
ey crey 050~
, S evay 9v'ey 0S'L-
M A YAX44 00°¢
ey Ly'ey ¢0°¢-
L'y ¢0°¢-
£
<
<
5
o
N
c
178%% e
/ N4 N34 44
98'Ly VLY 00¢C
68°LYy Ly 0s'L
16'LY 9Ly 0S0
a6’y 8Ly 000
€6'LYy 6Ly 050
G6'LYy 08’y 0S'}-
\ e6'Ly 8Ly 00'¢-
18y 18y Lz
8Ly L¢-
£
=
3
5
o
N
c

Przekrdj 240.00 m

Przekréj 220.00 m

Przekr6j 190.00 m

Przekrdj 18234 m

Przekrdj 17177 m

Przekr6j 150.00 m

Przekr6j 120.00 m

Przekr6j 90.00 m

Przekrdj 70.00 m

Przekréj 65.00 m

Przekréj 60.00 m

Przekrdj56.88 m

Przekrdj 5172 m

Przekrdj 4715 m

Przekréj 42.87 m

Przekréj 20.00 m
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Przekrdj 230.00 m

Przekrdj 210.00 m

Przekrdj182.38 m

Przekrdj 180.00 m

Przekrdj 170.00 m

Przekrdj 140.00 m

Przekrdj 110.00 m

Przekrgj 80.00 m

Przekrdj 68.33 m

Przekrdj 63.33 m

Przekr4j58.96 m

Przekrdj 55.16 m

Przekr6j 50.00 m

Przekrdj 45.72 m

Przekrgj 40.00 m

Przekrdj 10.00 m
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